ERREmEERE SrRIESHREEL) 1008 L]

488
S K A T P B
EEHMEEEEL 270 220 200 127 120 110
BEHN(EER - EXBESARED) 140 50 90 120 100 130
ER(EECEU-ER{TE) AH 500 120 490 29
&5 M BT | BB HE HE e e e e
Btk 500me (/R <RsIL) PN 3 252 600 120
20 (R RRD) i\ 7 762 1,002 500 550 990 100
CER(PHSHER) B A7 7 720 550 200 550 260 200
HHIT (PHoHhER) ) 6 210 340 200 550 260
CER(VIRER)IFT R A7 3 240 216 40
HHI(VIER) ) 4 72 216 40
BRm oK ) 4 250 350 200 96 150
K Nos) 2 216
=ES ) 5 480 1,000 216
EAHH ) 7 50 100 216 50 50
OS-1(#FOMKRK) i 3 1,176 6
SHEHER (FEHEERUMN) ml 5 15,000 |#&EEARL| 17,000
AAEHR g 4 100 1 500
HEIS /5% 5 100 70 384 200
2L % 5 16 5 10 50
=Am /'d 3 2
YR ® 7 1,000 20,000 38,000 1,000 6,000
JIVhTavIa 1@ 4 40 360
&AM 1@ 0
AV (FHI) /5% 7 665 10 WELARU | BEELARL
——— INAY ) 5% 6 20 BELARL | BEELARL
HE 7Y 1 6 4,436 15,000 300 A80 |HEBEARL
TSy ZiN 2
NIRIAYI 1 ml 0
O 7Z0OMRARRRIRE) | @ 4 100 20 600 100
RSAIv>T— i 4 20 8 3 8
A —VFHA R N 0
R—% TG |35 a 5 20 2 5 2 4
ety e = 4 3 6 10
EFREM A7 5 260 100 10 BMEL AL
mEtvh A7 5 10 20 10 T 5
RAAE 1 5 25 30 50 10
ke es () /5% 6 7,465 1,000 10,000 1,100 300 840
v & 7 1,300 1,000 10,000 1,300 4,000 200
nYIXL i\ 6 2,120 1,000 2,000 1,500 500 10
A= i\ 6 2,596 1,000 1,000 1,600 300 328
Tx—7 ZiN 5 1,300 1,600 100 100
v PN 5 40 20 600 10
AR PILIRA1IL i\ 4 200 _
ML EAR—/V— O—Jb 7 40 650 400 196 MEL AL
TAYIIANR—)\— & 7 20 350 400 4 WMELARL
JHEBEUEH @ 2 450
LR (K) 5% 7 2,400 17,000 400 1,200 100
NE=IUNY) /5% 7 2,400 5,500 200 1,200 100
&L i\ 5 20 10 1
BikE i 5 20 10 T
JI——k /5% 5 4 1 T
RS20 (50FT) 1@ 1 2
RIZ0(68LLET0LET) & T 4 2
RIS (118LLE208FET) 1& 3 4 10
DD (LEZDLICHTIEESHRY)) (& T 3
ERR—ILRW R & 0)
252 & 6 14 14 20 20 10
oo o ELESq) & 7 26 3 20 15 6 5
KEHMm
NIV X~ 1@ 4 30 24 30 15 9
NYRS1H & 4 20 20 3
BF ) 4 60 10 15 100
IS INIVR1 Y X & T 5
b 7/ 5 10 4 2 4 2
AN PN 5 4 2 4 1
£056 i 6 T 2 5 3 T
D=L i 5 9 2 6 2




KEFR FEREERE SrR[ESHEELH) 1002 L]

S K A T P B
EEHETEHR) 270 220 200 127 120 110
BEN(EER BEXEESANED) 140 50 90 120 100 130
B (RBICEL-ERHME) A 500 120 490 29
iyl A B | @&EH neE neE neE nE BE HE
STz AIE @ 2 1
=2 /5% 3 WMEL AL
e a—na | TEVWETAHAO & 1
RESERE UL —n 9 1
550 A 5 30 15 MBI ARL 30
ek = 5 3 7 2 7 5
AtvhaO = 6 6 9 20 6 4
fRIERE HEYhHR = 6 24 60 17 12
SA5— @ 3 5 1
WEAE—H— a 5 5 1 3 WEBIZARL 1
DR = 4 T 10 8
~S U —IN— (AR a 3 43 5 40
FLE = 5 1 3 6 3
PC = 5 11 2 20 3
S = 5 T 2 3 1
Wi-Fitss = 5 T 2 HMEBIZARL 1
HEEERER (TR /-5 -FHR) B T
R A~ R—R 54 6 2 T 4 10 2
KA R—R~Y—H— y/N 6 2 5 50 10 5
S & 4 10 5
ErA=p 7N 6 50 100 75 40
[BAEELT & 6 3 20 6 5
(<$ et S & 5 14 20 10
REXRAHIA ANILXY e 3 5 24 30 19
NIVXYSESA & 3 5 20
H— 18 3 4 2 5
FUk 1@ 4 3 6
BARREI T —R—)L = 4 10 4 5 T 2
EEI—R 7N 6 10 6 10 6
SIVIRI(TUIUT) 7N 3 30 3
1EER 5 5 1 10 30 10
ZOthEE 4 HEILARU | BBILARL 30 MEBIZARL
TE yb 5 WEIALL 2 T HEBIZARL
A ¥ETE &3 0
SHED vy & 1 2
KEFHRTES a 1 1
FEEE a 5 2 1 4 2
T 18 3 100
R () 54 7 9,500 45,000 | 20,000 | 38,000 15,700 10,000
<Y 27(N95) M 7 4,000 200 20,000 50 1,100 270
Ao M 7 1,900 4,800 20,000 2,400 1,300 3,100
FEWETHtETI Oy 5 5 1,900 1,000 20,000 2,400 850
E=—LFR 5 7 500 10,000 | 40,000 | 40,000 1,800 90,000
a7 TSRFVIFR M 6 118,300 | 56,000 | 40,000 1,000 10,700 92,000
J0FI1R | TIAAY—ILR 54 7 33 60 300 60 300 900
IR T—5 I 4 33 20 300 35 28
Fy S M 7 500 10,000 1,200 500 2,900
RSt & 7 5 22 20 15 12 4
FIEHER ml 7 8,000 91,750 9,000 62,400 45 35,000
SHERIR(FEEEERUN) ml 7 90,000 | 120,000 | 15,000 20 25,000




ERREmEERE SrRIESHREEL) 1008 L]

$§
C R E
EEW(FEER) 100 100 100
BEHM(EEN EXEESANED) 5 40 o)
ERRSEICELERKRE) AH 100 300 180
&l g Bl | & W= W= W=
BRIk 500me (R kRkIL) VN 3 1,200
20(RyRkIL) ¥/ 7 720 600 30
_ER(PHSHEH) B N7 7 52 83 50
EMNT (PHoHER) N7 6 52 306 96
_ER(VIREBR)IFY—W | AD 3 50
NI (VIER) N7 4 50 90
BRlm oK AT 4 300
K A7 2 300
BK A7 5 465 455 810
EAHE AN 7 8,000 320 100
OS-1(##FOMKR) ¥ 3 24
HBRIZR (FEEE®RUN) ml 5 20,000 5,000
A AR g 4 1,500 300
RIS (54 5 100 200
=2k 55 5 5 16
=Am 54 3 10 4
NAY /5% 7 2,500 250 500
JIVhTavIa 1@ 4 36 2,000
SEAMm & 0
HAIV(FHY) /54 7 1,000 150 20
——— INZAZZAIV /5% 6 300 80 20
“%n% ALY 54 6 300 1,000 3,000
oY ZiN 2 24 20
NIRIAYI 1 ml 0
O 7Z0MARRRIIBRE) | @ 4 100
RS+ T— ¥/ 4 1
A=Y i) 0
R—% TG |35 a 5 6 5
Tz a 4 3 1
EEm AT 5 168 20
Etyk A7 5 100 50
REl & 5 30 10
s () (54 6 150 300
v 1@ 7 100 800 1,000
HNUILL ¥/ 6 50 600
A= ¥/ 6 50 600
TJA—7 7/ 5 10 20
AU ZiN 5 20 90 10
aEE, ZILZRAIL ¥/ 4 1 50 10
LY ER—IN— O—Jb 7 766 192 100
TAYIIAR—/\— 1 7 12 540 15
JHEEUEH & 2 35
&R (K) (54 7 4,300 2,600 300
LI 54 7 10,000 1,000 4,000
&Y i 5 1 15
BRE ¥/ 5 1 15
JI——h /5% 5 1 10 10
RIS D(50FT) & 1
RIS 0(6QLLET108FET) | 18 1
RIS (118UE208%FT) | & 3 10
RS2 (ERDLICHTIZESRLY) & T
ERR—ILRW R & 0)
S8 & 6 15 5 20
< o RAREEAT 1@ 7 4 5 1
AL NTRVTS & 4 10
ANYRSAb & 4 10 3
BF AT 4 20 24
TN INILiR1 Y ) & 1 1
23y ZiN 5 1 3
2RI i 5 1 3
£05 ¥/ 6 1 1 2
DTV ¥/ 5 1 3 4




KEFR FEREERE SrR[ESHEELH) 1002 L]

C R E
EEW(FEER) 100 100 100
BEHM(EEN EXEESANED) 5 40 0)
EA(REBICEUERRER) M 100 300 180
&l g Bl | & W= W= W=
e lE & 2 3
£ 54 3 1 140
e o |TEWETHO 1@ 1 210
RERERE Lo —k e 1 20
25D i 5 40 80
R =) 5 2
Atvkado0O a 6 4 3 18
B EEA=] HhtvhkAHR a 6 12 10 20
15— & 3 10
ILEAE—hH— a 5 2 2
FRIERIE a 4 5 5
MDY — N — (SRR a 3 4
TLE a 5 22 4
PC a 5 1 24
El1ml4% a 5 4 8
Wi-Fit%3s a 5 3 3
EEEERER (R —5—R - FHR) a 1 10
ROA R—R /54 6 5 3 1
RIARN—R~Y—Hh— i\ 6 40 10 10
S = 4 T 3
g &M K 6 600 50 50
fRAAELT & 6 1 4 2
oot S, 1@ 5 2 5 20
REARFHA S OF [ 3 1
NILXY RS & 3 1 3
=" 1@ 3 1
TR & 4 1 6
AL —RU—IU a 4 10
ERI—R K 6 5 2 2
NIVIRI(DIo23D) ZiN 3 12
EDET i (54 5 100 10
TOMNEE 4 WELARL
TE tyb 5 |¥EEARL | BEELEARL
AV ETE & 0)
SHED Y & 1
KERHBSTESR a 1 1
FEEE =] 5 3 1 2
T 1 3 30 18
N A0 (k) 75 7 10,000 7,500 15,000
N A2(N95) /5% 7 1,700 1,000 100
1o 5% 7 1,070 2,500 1,200
FUWETHMaSI OO /54 5 200 200
EZ—ILFS (54 7 7,000 3,400 3,000
] TSRAFYVIOFR /54 6 16,000 3,000
:II:IT:D'I’)bZ TIARI—IVER 5% 7 700 350 200
L T—J [ 4 90
FoyvS /5% 7 200 2,500 1,000
KRt & 7 20 16 8
FIEHBR ml 7 24,000 57,600 10,000
HBRIZR (FEEEHRUN) ml 7 36,000 | 120,000 5,000




KEF REmTERE KEHRIEESHMFEELR) 752 L1008 F ]
D L M F o) \Y; G
EEHFEEH) 97 96 95 92 (AR R 20) 90 86 76
BERRRER EXEETSAKED) 40 50 80 20 106 67 44
ER(REBICEUI-ER{RE) M 600 110 150 300 380
el % B | BB Ha e a2 #H2 = = =
Bk 500md (R kikIL) P/ 0
20 (R ikIb) i 7 120 72 180 504 360 468 180
_ER(PHSHERA)BW A7 5 450 50 100 450 120
ENT (ChoHER) i) 5 680 150 100 450 120
_ER(VIREBR)IFT ) 2 180 90
HHe(VINER) ) 3 480 112 450
Brlm oK A7 6 12 750 100 112 450 120
L1191 S i) 1 500
=F S i) 0
EAHH| A7 5 1 300 3 500 50
OS-1(#O#KR) PN 1 192
HERIE(FEHEERUSN) ml 5 1,000 1,000 500 1,000 1,000
A AER g 4 1,000 1,000 6,500 500
HEIS /5% 7 100 50 800 100 6 200 100
oE 55 7 10 10 3 6 10 40 T
=AM /54 5 4 5 1 T 5
YR /5% 6 12,000 4,500 5,000 919 15,000 100
JIVhTavIa & 5 120 50 1,200 10 50
SIEAM 1@ 2 50 270
YAV (FHBY) /5 5 100 30 100 BMEL AL 100
I—. INZAZF IV /54 3 100 BMEL AL 100
He 713y 5 5 |HBIARL 500 240 500 |#&8ZARL
A i 2 300 50
NIRIAYD ml 0
O 7ZEDMARKRRYIRE) | @ 4 36 1 50 20
RSAIv 2 T— ¥\ 2 50 5
A=V A7 1 2
"—4% JIVIKE |25 a 5 T T 1 3 3
FERSivE S a 6 5 1 7 T 5 4
EREm A7 3 50 270 86
sEty A7 4 50 10 20 60
RnHE & 5 10 5 10 MEL AL 15
fkaes () /5% 7 200 1,000 5,000 600 1,400 14,000 120
|y & 7 300 1,000 500 3,000 2,000 9,200 800
nUILL i 7 300 3,000 1,200 500 4,200 3,000 100
A= i\ 7 300 3,000 770 600 400 4,800 500
JH—7 ¥\ 3 300 6,000 30
v i\ 4 20 60 20 400
AFS PZILiA1Ib i\ 3 20 88 20
LY RAR—/\N— O—Jb 6 480 540 288 48 60 150
TAWIANR—)\— & 6 120 50 600 20 500 60
THEREEH] 1 2 1,000 500
&R (K) /5% 6 3,000 8,800 300 100 2,100 4,000
NEIUNY) 54 5 300 1,200 900 1,000 2,500
L PN 2 1 2
BIR= PN 1 2
JI——k /5 6 2 3 10 5 5 5
RIS (50FT) 1@ 1 20
RIS (6QLLET0LET) 1@ 1 2
RIS O(118LLE208FET) | & 3 10 2 6
RSO (LROLCSTIRES RN | (F 1 6
ERR—IUR YR 1@ 1 0%
252 & 5 3 20 20 20 10
S D {RAAEKT & 7 6 5 2 20 4 20 5
ANILXwy 1@ 3 5 20 4
NYRSA 1@ 1 15
BF A7 6 10 20 60 108 20 20
UEASPANI WSV 1@ 1 2
23y VN 1 5
2RI ¥/ 3 2 1 3
E£D5 ZiN 4 2 2 2 3
D=L ¥\ 4 T 2 T 2




Y mtEFHE KEIRI[EENFER) 758U L1008k H]
D L M F o) Y; G
EEH(REL 97 96 95 92 (FHIT TELH20) 90 86 76
BEM(EEN EXRESANED) 40 50 80 20 106 67 44
EBER(RBICEU-ERKRE) M 600 110 150 300 380
] e B | OIEE W= H= = W= W= W= W=
. 2 VLS 1@ 2 5 2
E%h /5% 4 30 5 30 10
i  [EVETHAO ® | o
R AERE L1 K 95
2510 i\ 3 20 50 10
R B a 5 5 3 WEC AL 5 10
yARcAV) o DN = 7 5 23 2 10 9 15 13
EEpEEA= HhtevbhAXR = 7 10 75 3 144 60 20 23
(45— & 4 10 3 10 5
LEAE—H— =] 1 2
PRI a 6 10 2 2 1 2 5
NS —IN— (EiR) a 2 2 3
TLE a 5 11 1 T 5 6
PC a 5 32 6 T 3 20
[l a 5 5 3 T 1 2
Wi-Fitk2s a 2 1 1
EEEEABS (R U5 —RFHR) | B 3 2 4 5
RJA MRh—R /54 4 2 2 5 4
mRIJAMR—RY—H— i\ 4 10 10 50 30
>5IF a 6 2 1 2 4 5 3
s &M ZiN 6 10 20 250 140 100 100
{RAREKT & 6 6 1 20 T 20 5
I EDr D I 4 1 20 20 10
N NS I 2 20 1
NILXY SESA - & 1 15
5—7 12l 2 1 5
T & 0
PARREYO—RU—IL a 5 2 1 2 5 1
EREI—F i\ 5 5 2 T 10 3
NRIOYOIORI(DVIo23) i\ 2 5 5
BEHE /54 4 10 4 20 10
TOMYEER 3 MELARL WMELARL MELARL
T8 tyb 4 2 WMEECARL 1 2
AV I ETE & 4 1 9 T T
HAED Y E & 2 T 1
KERHBITES a 2 1 1
FEER =] 6 3 1 3 T 5 2
T & 4 200 144 10 10
N A0 (k) 5% 7 12,000 2,000 2,000 5,000 250 15,000 5,000
Y AX2J(N95) 5% 7 1,440 470 200 60 50 3,360 300
o /5 4 1,950 200 1,080 100
FUVETHNESI OOV 5% 7 7,000 2,000 200 150 750 700 100
E-—IVFLE Y 6 8,000 25,000 48,000 400 160,000 1,800
il TSRAFYVIOFE 5% 7 8,000 5,000 20,000 2,100 500 4,000 4,000
ZIE]TZ’I’)bZ TJIARI—IVE 5% 7 1,800 600 500 140 50 200 300
IR T2 [ 3 50 MBTALL| 30
FyJ 5% 6 2,000 150 1,000 200 500 500
KBET 1@ 7 10 10 10 2 7 6 5
FiEHER ml 7 50,000 30,000 54,000 500 1,000 50,000 5,000
THERIZE (e EERMUMN) ml 6 30,000 48,000 1,000 300 5,000 18,000




KEFREmTERE SerRIEEH(FEEE) 758FKm]
J I H Q U N
EEHN(EEL) 72 70 70 70 60 50
BEN(EEH EXRAEZANZD) 80 20 77 80 30 40
ER (REICEUI-ERKEE) AHE 30 200 B8 70 o) 20
Nl o BfI | BEHK = = = = = =
sl ok 500m (R RkIL) VN 2 270 144
20(RYERIRRIL) ¥/ 4 282 42 252 550
CER(PHSHER)BW A7 4 720 420 200 60
ENg(ChohEH) A7 3 720 HWEELARL 144
CEBR(VIREBR)IFY—H | AD 1 HWEELANRL
NI (VIEH) A7 1 WEELARL
Bilm oK A7 1 90
K A7 0]
BK N7 2 200 200
EAHE i) 3 400 90 20
OS-1(#RHAHKRKR) VN 1 20
THERIE (FHEEERUN) ml 2 500 5,000
A RERR g 3 10,000 1,000 1,000
HEIE 54 3 100 20 200
=2k 5 3 6 10 6
=@am 54 3 3 3 3
N 54 3 12,000 2 2,000
JITYhT4va & 1 10
SEAMm & 0]
SAIV(FH<W) 54 2 160 200
—— INZRZF ) /54 2 120 100
“%n% LMY /54 2 2,500 360
oY VN 1 20
NIJRAIAYD 1 ml 1 1,000
ORET PZOMARRRIIRE) | E 2 100 20
RSAI+v 2 T— ¥ 2 1 5
A—VHM ) 0)
R—%TIVIR5 25 a 3 7 5 1
EEi= a 3 1 4 1
EEm i) 2 2 50
ATV i) 3 50 10 5
RRH 1@ 3 9 10 5
fags () (54 6 300 100 1,000 2,300 1,350 1,000
|y 1 6 300 30 600 800 1,000 300
nNYIXL ¥/ 6 300 200 400 1,500 900 500
AT—2 ¥\ 6 300 70 720 2,000 700 500
JH—7 7N 2 300 500
v Vi 4 | WEEARL 4 30 2
AEE TILIRAIV ZiN 4 | BEEARL 2 10 2
Ly EAR—/N— O—Jb 3 |#EEARL 60 32
TAWIIAR—I\N— 1 4 | HEEARL 60 10 12
THEEEA 1 1 100
LR (K) 54 4 | HEELARL 300 3 600
LRGN e 4 | HEELARL 400 6 1,000
&HY ¥/ 2 6 2
BiRE 7N 2 3 2
JI——h e 4 1 2 2 2
RUT D (50FT) & 1 2
RSO (60LLE108FT) | & 0]
MUSOM1LLLE208FT)| & 0]
RUSo (LD TEESRWM) | {E 0
ERR—ILRWR & 1 3
S8 & 2 2 11
« o fRAPELT 1@ 4 4 6 3 5
RER@ O OR [E 1 11
ANYRSAk & 1 11
BF A7 3  |HEEARL 20 4
I8 1NV )b & 0]
2y ¥/ 3 3 4 1
2RIV VN 3 2 6 3
£D056 ¥/ 3 2 5 2
D_TY ¥/ 4 1 3 2 2




mitEHRE SKerR[EEWM(KEEN) 757 K]

Q U N
EEHN(EEL) 72 70 70 70 60 50
BEN(EEH EXRAEZANZD) 80 20 77 80 30 40
ER(EEICEUI-ERkEE) 5H 30 200 NEE 70 0 20
&hl o BfI | BEK = = = W= W= =
Bz ilX & 1 3
£ 54 4 5 6 4 10
we aminn  |EVETHO 1l 1 50
R Py T ® | O
25D i 4 20 4 4 20
PR [\ =] 4 2 2 4 3
yARcAV) o N a 6 9 3 4 9 8 5
EEREEIS] htevhbAR a 6 27 9 12 11 15 12
15— & 4 5 2 3 5
WLEAE—H— = 2 1 1
FREEE a 3 1 1 2
NS —IN— (EiR) a 1 1
TLE a 3 T 1 T
PC =] 2 3 T
EI a 2 1 1
Wi-Fit%2s a 1 T
gEEERER@EIR-V—>—RX-FHR)| B 1 5
RO R—R e 4 2 1 1 1
RIOA R—RY—H— ¥/ 4 |BEEARL 10 4 4
SIF = 2 2 1
E7A=Sp 1 VN 4 | BEEARL 20 10 20
fRAEEAT 1@ 4 4 6 2 5
e etk cn S8 1l 2 2 30
N NS I 1 7
NIVXYREZA 1@ 1 7
5= & 0
Tk & 2 1 2
FEREEY O — R —)L =] 1 2
ERI—K PN 4 10 3 5 3
NIOVIRI(TIO3Y) 7 3 | HEEARL 4 5
BREHR e 3 |[&HEEARL 1 10
TOMYEER 2 | =AU HWEELANRL
TE tyb 4 | HESZAU | BESKLARL 1 HWEELARL
HIV) AEITE 1@ 2 1 1
HED v+ 1@ 0)
KERHBSTER a 0)
FEER a 2 1 1
I 1@ 1 80
N RO (INgktn) e 5 |#EZARU| 12,000 |#H=EEILARU| 20,000 500
N ZX2(N95) 4 3 100 2,000 100
Ao 54 4 600 W= AL 1,400 1,000
FEVWECHRASI IOV 4 3 250 WEELARL 600
E——)VFR 54 4 WELARL| 38,000 |#HEEZALL 2,000
el TIRAFYVIFR 54 5 W= ARL| 4,900 |(#H=EEARL| 6,000 2,000
. DTZ/]’ VR | TTARI—IUR 54 5 W= ARL 70 WEL AR 200 50
L T4 1 2 wEZARL| 10
FrvT e 4 1,500 BMEL AL 1,600 1,000
KBt 1@ 5 12 10 1 7 5
FiEEER ml 4 125,000 | 19,000 [#H=ELABL 5,000
THERIZE (FHEEERUN) ml 2 500 WEELARL




